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( Honours Core )
‘ Paper : EDU-HC4026

( Educational Statistics ]

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
_ Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

(a) Who was the chief exponent of
statistics. :

ﬂﬁmmmﬁ@ﬁwmwﬁm

(b)) Compute mode of the data for which
mean and median are given 30 and 32
respectively.

R OYH T SF TGN T 30 F 32 O
{1 IRETE AT 0
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(0 _____ is a bar graph with no gap in

between. ‘
( Fill in the blank )
&Eia$ﬁ@$a#ﬁﬂwwr§wm=ﬁﬂﬁﬁ
=n‘?< l
'(=ﬁﬁ%ﬁfﬁq¢m)

(d) What is zero correlation?

0 ST &7

() Write the formula of calculating
- percentile point..

wmwﬁ%zﬂ¢n¢maa@ﬁﬁ%ml

(f) AWhaf is the value of kurtosis in a
normal distribution?
in1ﬁ¢1%am~ﬁWsaﬁﬁw§@rar¢ﬁﬁﬁaqw;
R 2

(9 Which of the following statements is
" true regarding negatively skewed distri-
bution?
o el RETA (RIS T (PR I
) ?
() The mean is higher than median
and mode.

TG N T 6 @R |
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(3)
_ (i) The median is lies between mean .
and mode.
TYAT T HE TR THOACE |
(tu) The median is lower than the mean
Tl qu T
(iv) None of the above
ST (PGS T
( Choose the correct answer )
( % Teachr AR ©ferear )
2. Answer the following questions : 2x4=8
o amw T far : '

(a) Find out the med1an from the following
set of scores :

oS fra AR o v R 4
7 12-24 10 35 29 42-19 15

(b) - Write any two principles of constructing
a graph '
@Nﬁavﬁﬁﬁﬁiawanﬁhﬁﬁ‘ﬁwn

(c) Write any two advantages of product
moment method.

QT 0 &S] R} e o1 R v o
(d) What is normal dist_ribqtior;?( '
IR RRTIw B2
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3. Answer any three of the followmg questlons
5x3=15

S PP R e T Wﬁm
(d} ‘Write the functlons10f statlsucs

sfRre R FROTR Bt 1

(b) Determine standard deviation from the
. following scores :
~-Gﬁ??ﬁ#*B@‘*ﬂﬁﬁ¢ﬁ§ﬁ&ﬁﬁﬁaﬁl

18 25 21 19 27 31 32

(c) Write about the drawing procedure of
 cumulative frequency percentage curve.
| vmﬁ11ﬁﬂwwﬂ*ﬁw~r@Nﬁvw$avﬁﬁsvwﬂc$
form

(d) Determine coefficient of correlation by
using rank difference method from the
" following ranks of two sets :

So AP PR TAEARR {1 g AL TS
TR IR TR BN Pl 741

Testl : 4 3 1 6 °8 2 .5 7
Test2 : 3 1 2 7 8 4 6 5

() Write the properties of normal
probability curve. o

TeRe TBRATS! (fa nim™ forar |
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(8)

4. Answer the: followmg questlons o 10x3=30 -
'ﬁﬁqanpﬁgaﬁNF:ﬁNT R
(a) What is mean? Write its two merits.

Determine mean of the following data :

2+2+6=10
w&ﬁ$??amiqﬁraﬁmrﬁhnlvwniamvmaa°ﬁ1
S ey 1 - : |
Class Interval Frequency
- RAChll . IRER_
90-99 . . 5
80-89 . - . 6
70-79 9
60-69 15
50-59 o 7
4049 5
30-39 3
' N =50
Or / &IsAT

(b} What is averagve deviation? Determine
average deviation of the following table :

2+8=10
T Rpfe =2 vwm'vm%¢wma 1 e Rpifs
Ry < :
Class Interval Frequency
1 ST LA
26-28 2
23-25 3
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(7) | - |
( 6) : ' {
Or / 51
Class Interval |  Frequency .
Ve GIR Ca . IRERT (d) Determne combined standard devxatlon
20-22 ' 5 from the following data : 10
1719 [ 7 S SR Rl S A RS ey 01 -
14-16- 10
11-13 5 First Group .Second Group
810 ;. 6 a9 7e]. - | ﬁ@g’ﬁ
57 2 N 40 20
N =40 M 25 15
- . SD 10 -} -+ &
(¢ What is histogram? Draw a histogram _ S
and a frequency polygon on the same | (e/) What is percentile rank? Determine
axis from the followmg table (use graph PR75 and PR94 from the following
. paper) : 2+4+4=10 } table : . 2+4+4=10
ety 7 SR OfRR /I 4T TS | " o W R 7 OO ORI, 94 PR75 ¥ ;
o1 STefE R «Br IR TEgE PRO4 RfgRM: . - . .
T (AT FI5re YT IR) - : , , ;
. : Class Interval Frequency
Class Interval Frequency : IR I IR
9 ET - JRQ[EE 90-94 2 .
60-64 2 85-89 5
55-59 4 80-84 5
50-54 8 , 75-79 12.
45-49 10 _ 70-74 20
40-44 6 : 65-69 16
35-39 4 60-64 7
30-34 4 55-59 5
25-29 . 2 4 50-54 3
N = 40 N=75
24A/706 S . "{"Turn Over )
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(8)

Or / 5g[1

() Mean of a normal distribution is 56 and
standard deviation is 6. Assuming the
distribution to be normal, answer the
following : 5+5=10
Al ¢F JERTF Reqm 9% o 56 «F

e Rpfe =4 6. ﬁ@‘lﬂ PTTISICT
(i) Calculate the percentage of scores
falling between 44 and 62.

44 |I¥ 627 Were 4 o] A WA
901

(i) Find out the percentage of cases
above 51.

snevm*tmmﬁﬁaw’i

*kok
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